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1. Important facts relating to Mahatma Gandhi and Civil disobedience movement.

i. Gandhiji started civil disobedience movement from Dandy to Sabarmati Ashrama,
Distance of 322 km.

ii. Civil disobedience movement slowly declined and it was formally suspended in May
1934.

iii. Chittagong armory raid was conducting under the leadership of Surya Sen between
the periods.

iv. Gandhiji attended first Round Table Conference on November 12, 1930.
A) Only i and ii are correct B) Only i and iii are correct

C) Only iv is correct D) Only i, ii, iii are correct

2. Relevant Facts about 1857 Revolt.

i. Doctrine of Lapse-Annexed by the Right of Conquest, Satara, Jaipur, Sambalpur,
Baghat, Udaipur, Jhansi and Nagpur.

ii. British economic policies in India worked against the interests of Indian trade and
industry. The East India Company used its political power to destroy Indian handicrafts
and industry and developed it into an appendage of a foreign exploitative system.

iii. The East India Company rule continued for a long time after the 1858 Act.

iv. The Revolt of 1857 ended the era of territorial aggrandizement, gave place to the era
of economic exploitation. The emotional after-effects of the Revolt were perhaps the
most unfortunate. Racial bitterness was perhaps the worst legacy of the struggle.

A) Only i and ii are correct B) Only iis correct and iv is incorrect

C) Only i, ii, iv are correct D) Only i, ii, iii are correct

3. Important facts relating to Marthanda Varma’s Battle of Colachel.
i. The Battle of Colachel was the battle between the Dutch and Marthanda Varma.

ii. The Dutch wanted to seize power in Anchikaymal (Ernakulam area) Martha
Vadakkumkoor.

iii. The Dutch received much-needed military assistance from Batavia.

iv. On May 22, 1743, a comprehensive peace treaty was signed by Marthanda Varma
and Commander Reneccasirsum at Mavelikkara.

A) Only iii is correct B) Only ii and iii are correct
C) Only i, ii, iii are correct D) Only i, ii, iv are correct
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4. Important facts relating to United Kerala.

A Reforms Committee has been constituted for the development of constituencies
with the participation of representatives of the State Congress.

i. The rule of Dalawa and Diwan continued upto 1959.
iii. During the tenure of T. K. Narayana Pillai, the Government of India decided to unite

the princely states to form a United Kerala.

. The State of Kerala came into existence after the Government of India approved the

recommendation of the State Redistribution Commission.

A) Only i, iii, iv are correct B) Only i and ii are correct
C) Only iii is correct D) Only ii is correct

5. The wrong statement relating to formation of United Nations Organization.

A)
B)
C)
D)

The draft charted was then discussed, modified, improved and finally signed by
representatives of fifty states at the San Francisco Conference in April-June 1945.

. Under Article 24, members confer on the Security Council primary responsibility for

the maintenance of international peace and security.

iii. The Norwegian Foreign Minister Trygvelie was elected as First Secretary General.
. The United Nations non permanent members also enjoyed veto power.

Only i, ii, iii are correct
Only iv is correct

Only i and ii are correct
Only i and iii are correct

6. Important facts connected with Azadi Ka Amrit Mahotsav.

A)
C)

Azadi Ka Amrit Mahotsav is an initiative of the Government of India to celebrate and
commemorate 75 years of Independence.

i. Azadi Ka Amrit Mahotsav commenced 15 August 2022 which started a 50 week

countdown to our 75" Anniversary of Independence and will end post a year on
15" August 2023.

It helps bring alive stories of unsung heroes whose sacrifices have made freedom a
reality for us.

. Programs under this theme include Birsa Munda Jayanti, declaration of provisional

Government of Free India by Nethaji, Shaheed Diwas etc.
Only i and ii are correct B) Only i, iii, iv are correct
Only i, iii are correct D) Only ii is correct
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11.

12.

13.

In which season the phenomenon of ‘Monsoon trough’ an elongated pressure trough
across Ganga basin upto the head of Bay of Bengal occur ?

A) Cold Weather Season B) Hot Weather Season
C) South West Monsoon Season D) North East Monsoon Season

Inner most zone of interior of the earth extends from 2800 km depth to the nucleus
of the core is termed as

A) Barysphere B) Pyrosphere
C) Weichert — Guttenberg Zone D) Mesosphere

Resources which are found in a region but haven’t been utilized and aren’t developed
properly

A) Stock B) Reserve

C) Potential Resource D) None of the above

India’s first Earth Observation Satellite which is to be placed in a geosynchronous
transfer orbit by GSLV-F 10

A) EOS-04 B) GISAT-1
C) RISAT-2B D) CARTOSAT-2A

Largest ethnic group concentrated in Niger and Northwestern Nigeria
A) Maasai B) Hausa

C) Bindibu D) Tuaregs

Central Tuber Crops Research Institute situated in

A) Karamana B) Pampdumpara

C) Peechi D) Sreekaryam

The main objective of WTO is
A) To establish a trade platform for goods and services among the nations
B) To establish international competitive market platform for goods and services

C) To establish a rule based trade regime to ensure optimum utilisation of world
resources

D) To establish co-operative regime among the nations for the trade of surplus
resources
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14. GSTN stands for
A) Goods and Services Tax Network
B) Goods and Services Trade Network
C) Goods’ Source Tax Network
D) Goods and Services Transport Network

15. According to the difference between NITI Aayog and Planning Commission, which
of the following statement is/are correct ?

i. NITI Aayog has no such power to impose policies on state. It is an advisory body.

ii. The Planning Commission previously had the power to impose state policies. The
projects approved by the Planning Commission.

A) Only iis correct
B) Only ii is correct
C) Bothiand ii are correct

D) Both i and ii are partly correct

16. Among the following which tax is being subsumed at central level ?
A) Service tax B) Purchase tax
C) Luxury tax D) Tax on lottery

17. The State in which the first Food Museum of the country recently inaugurated by the
Hon’ble Minister Shri Piyush Goyal is

A) Tamil Nadu B) Andhra Pradesh
C) Gujarat D) Punjab
18. Among the following which of the Constitutional Amendment is related to GST ?
A) 104 B) 103
C) 102 D) 101

19. The words Socialist and Secular was added to the Preamble of the Indian Constitution
through the

i 44th Amendment
i. 42" Amendment
iii. 39" Amendment

iv. 5th Amendment
A) i B) ii C) iii D) iv



120/22 -T
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16.
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19.

A) Goods and Services Tax Network

B) Goods and Services Trade Network
C) Goods’ Source Tax Network

D) Goods and Services Transport Network
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i. @ufer g Cametensseear Gessllss BB o Curstaln@ HFsmib Qeveamaev. ()
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i. 44 6ug BHSSLD
ii. 42 eugl HSHLb
iii. 39 eug HpSsLb
iv. 5 oug HpSsLb
A) i B) ii C) iii D) iv
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20. The President can promulgate an ordinance

i
i.
ii.
iv.
A)
C)

When both Houses are not in Session.

When only one House is in Session.

Only when there is a National Emergency.

At any time.

Only i and iii B) Onlyiand ii
ii D) iv

21. The 103rd Constitutional Amendment of the Constitution of India

A)

22. Art.

Introduced 10% reservation for Economically weaker Section of society for Admission
to Central Government run educational institution and private educational institutions
(except for minority educational institutions) and for employment in Central
Government Jobs.

i. Introduced 10% reservation for Economically weaker Section of society for Admission

to Central Government run educational institution and private educational institutions
including minority educational institutions and for employment in Central Government
Jobs.

Introduced 12.5% reservation for Economically weaker Section of society for
Admission to Central Government run educational institution and private educational
institutions (except for minority educational institutions) and for employment in Central
Government Job.

iv. Introduced 12.5% reservation for Economically weaker Section of society for

Admission to Central Government run educational institution and private educational
institutions including minority educational institutions and for employment in Central
Government Job.

i B) ii C) iii D) iv

19(1)(a) of the Indian Constitution which guarantees Fundamental Right to

Freedom of Speech and Expression can be restricted on the grounds of

i.
i.
i
iv.
A)
C)

Defamation

Decency and Morality

Contempt of Court

Incitement to an Offence

Only i B) Only ii

iii and iv D) All of the above

-10-



120/22 -T

20. ar@uB o1 iCLING @b YeusFgd FLU L Feog LpLiss (Lpigujib

21.

22.

. @@ Femusafler yiailer @Qevevns GLimg.

ii. @Gy ey Fevrs Ioiailed @) pdb@Hd CLg).

iii. Cafw yeusghlerev @Qmsb@GHLb Cung " HGLo.

v. 6158 GprsSaib.

A) i wpmyb iii o BLb B) i opmyib i or” Hib

C) iii D) iv

@pFw yrRuweveniorifer 103 augy rflweveniolis) FpdsLb

i. Fopss@er CluTmparngris@e LKeaigm&Gw ialarmsd wSPw YisF L GGILD
sl BlnieueTBIEer wPmitb setlwumt saal Blpeuetnisaley (Fmureaiens Heval)
Biouetniser sally) CFigens wPpmitb wEFw us Causmevsafley Gouemeveumuiriied
10% QL 9515%® AP (LpSLILBSSLILL L F.

iil. wSPw g% BL_GaIb Hevadl HlmIcueTBISET LPMILD FMILITETELD S6VaT) BN 6GSTBI% 6T
2 erefl L geflwumi seval Blnieuetnisaiicy CaFieugsm@Ld, WSS W ikl Liessilgealey
Cauewev eumiitiy Qumieusp@d Clunmernsris®ed pallbs LiMalerms@d 10%
QL-251686 AP LPSLILBSSLILL L G).

iii. B sk BLGHID FHevall BlmieuesTBISer LOHMILD Seflwmi evadl BlnieiesEisafey
(Poyuimcstenro 6vad BlmieuetBiseamers $aily) CHieugD@LD, LB yisk Ceuemevsafleh
Caremeveurditip@b Cur@earisnrs®ed LKeasm&Hw FupssSHarmse 12.5%
QL-251686 AP LPSLILESSLILL L G-

V. LGB Is BL_GHILD Vel HMIcUTEISET LoPMILD FMILITETELD S6VaT) BN 6GSTBI% T
2 etefl L gasflwmi sevall BlmieusstsiseallcvCaieugn@Ld, SFw &L Liessisailey
Caueeveumiitiy GumieisnH@d COurmpartsris®ed BeSlbs LNfNalearmse 12.5%
QL-251686 AP LPSLILBSSLILL L G).

A) i B) ii C) iii D) iv

@BFw yrRwevenioriys F LG et 19(1)(a) <y iven o Menwwmer Cuss

HMILD HhSS1F FFHEBISHDG 2 $FT60UTSLD yeflliLiens Q)6 i 1L ufled

SL_HLILI(HSSeVTLD.

. yeugmm

ii. @upssLd HmLD HeO6IQYMEI%6TeT

iii. BB LocID UGy

V. @G GPPIFDS S BHS60

A) i @b B) ii o (b

C) iii opmyib iv D) Gupses_ ojeesidgib
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23. A prerogative Writ calling upon a person to ‘show by what authority he or she holds
or occupies a public office’ is

i. Writ of Mandamus
ii. Writ of Quo Warranto
iii. Writ of Certiorari
iv. Writ of Prohibition
A) i B) i C) iii D) iv
24. Which of the following statements are correct about the Comptroller and Auditor
General of India ?

i. Appointed by the President of India.

ii. Shall be eligible for further office either under Government of India or Government
of State after he has ceased to hold office.

ii. Shall only be removed in like manner and on like grounds as a Judge of Supreme

Court.
iv. The salary of CAG is charged from Consolidated fund of State.
A) Onlyiandii B) Only i and iii
C) Only i, iiand iv D) Only iii and iv
25. How many Fundamental Duties are there under the Indian Constitution ?
i. 10
i. 11
iii. 8
iv. 9
A) i B) ii C) iii D) iv

26. Equal Justice and Free Legal Aid is
i. Guaranteed under the Fundamental Rights Chapter.
ii. Recognised under the Chapter on Directive Principles of State Policy.
iii. Is acknowledged under the Fundamental Duties.
iv. Not recognized anywhere in the Indian Constitution.
A) i B) ii C) iii D) iv

27. Who is the 48" Chief Justice of India ?
i. Justice N. V. Ramanna
ii. Justice A. M. Khanwilkar
iii. Justice Uday Umesh Lalit
iv. Justice Dr. D. Y. Chandrachud
A) i B) ii C) iii D) iv
A -12-
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WG FHalley 615 Fillwimerg 2
. @BPw erTHUDwTed FwdESILIL L it
ii. 9eur ugalevw FSHw LD WIBlV YIFH Yeevd YTFTEISSF 6T SLp GLogyib
uSalS@H SSHuen_welgns @)hdbs Ceuesst(hLb.
iii. o7 pFoeinsPetr 2 gpyailerr Cuev, 9% CLmen Lpeymuleitb, 9yigLiLieoL_uleyLb
" ®Cw BSSLILIRILD.
iv. CAG uilest #ibLianib oaBlevsSest e hmIFenths HFuNOBbs u@essLILIGB DS
A) i wpmb i o Bb B) i wopmyb iii tor” H)ib
C) i, ii opmyb iV 0" (b D) iii opmyib iv o B)ib
@BF W YTRWLLLILF FI L SF60 TSSMT IJIQLILIGHL & FHL_GDLDHGT 2 GITGTGH.
i. 10
ii. 11
iii. 8
iv. 9
A) i B) i C) iii D) iv
1o (G oHmib @eweusF FL L 2 gail.
I Qg liuen 2 MewioseT YSHWMUSHGT SLp 2 SSTAUTSHLD e fdsLILIBFDSI.
ii. mblevd Clasmerensuile 2 S50 HYFHLICLITYS6N6T B WMUSB T BLp 2yBIGS NS
Ll g).
iil. @glinen sL_eoiseflet rp 9BIGsMNSSLILIL (HeTeng).
V. @Bw YrFweeoLilied 61BIGLLD 9BISHMNGHLILIL allbenav.
A) i B) i C) iii D) iv
@ BFwrailer 48 aig seevenio FEHLIS) wri 2
i. 59u% N. V. grioessesst
i. 55u% A. M. srerallevsi
iii. 591 2 su1 2 Coay wedd
iv. 5801 Dr.D.Y. sb6Sga"
A) i B) i C) iii D) iv
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28. Which among the following statements are not true with regard to the National Rural

29.

30.

31.

32.

Employment Programme (MNREGA) of Government of Kerala ?

1. The objective of the programme is to strengthen the livelihood resource base of the
poor.

2. Strengthening Panchayati Raj Institutions.

3. Development and consolidation of the feeling of National unity.

4. Proactively ensuring social inclusion.

A) 1and 3 B) 2and 4 C) 3only D) 4 only
Given below are two statements, one labelled as Assertion (A) and other labelled
as Reason (R). Select your answer from the codes given below :

Assertion (A) : Kerala Civil Service was formed to build a cadre of public servants
as a second line of managerial talent for Government for effective implementation
of Government policies and programmes.

Reason (R) : There was a shortage of officers in the top and second layer of
management in government.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
C) (A) is true but (R) is false

D) (A) is false but (R) is true

Which among the following is not a core objective of K-Fon ?

A) Creation a core network infrastructure

B) Imparting digital literacy

C) Reducing digital divide

D) Larger connectivity

Following is the list of programmes implemented by the Social Welfare Department
of Kerala. Find out the programme which is not related to transgender.

A) Sakalyam B) Saphalam
C) Sayamprabha Home D) Varnam

Which among the following statement is not true in the context of Kerala economy ?
A) The average wage rate in Kerala is higher than that of India

B) Service sector is one of the mainstays of Kerala’s economic growth

C) Covid-19 had badly affected the economy

D) Secondary and tertiary sectors in Kerala economy register growth after Covid-19

-14-
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Cageor oyp&et CsHw sags Gousveveurditiyg G b (MNREGA) Qsriuns
LereupLd plsenssafle 615 2 erenLo (Q)cvemev.

1. agepsailer aumpansmideas auali®ds100%5 S 1L_SF 61 GBrsHLom@Lb.

2. LEhFMUSS| T8 BDIQUGTEISEGT aUaILILI(BSSHIS6V.

3. CsHw epmieLo 2 ewrialle euaTidS oPpmith & (H5I% HERTLIL.

4. geps Caigensaw (Lpesigal 1gCw 2 1§ CFuised

A) 1 wpmib 3 B) 2 wpmib 4 C) 3 @b D) 4 " @b
G0 @ueni(y) yMsmaser Cl&rTRSsLILL (Deteret, @ain Fmpm (A) wpmb
wnHepremy smgewtb (R) erewr Glarssiiul Berors. G0 CETR)SSLILIL (HeTer
@D sefld g 2 BIS6T LFmevd Csiih0)s(HdsaLb.
Fwpmi (A): 2usmBI53S6 OS5 MeiTensH6r LoPMILD B L BT HnLbLIL QFWDLIBSHIMISDHTS
QY IFTBISSP D&M [Blieuns Speoioullesr @uewiL_maudy eullewswns GlLing serfluiisaeier
CaL_amev 2 (Hounds Csger Falleh Fiafev o (heurssLILIL L g
sagewith (R) : oypaniisg@ev flieunsdGesr o wi wHyib @)uessti_mib 9BhSG

G sThSaNeT LDDTSGH®D ()(BHSSI.

A) (A) wpmib (R) @uess@ib &M wpmib (R) ereirugy (A) @)esr Fllwmnes aflerdsib

B) (A) wpmib (R) @uewr®d Fsllwrnestenes gy ermed (R) ereirigy (A) @6t silwimes

adeardsb 9evev
C) (A) erestug il gyermed (R) eretriigy seumy
D) (A) eretrigy seumy gy errev (R) ereirigy sl

Leraumeuataippled 615 K-Fon @er wps&w Gprdbsioevev

A) @@ WpsHw CBL Ceurid 2 6GL L eLDLIGHLI 2 (heuTdh &S

B) gl e a8l ged @bLimiiig s

C) el eb Cugu@si 1gemair’

D) Quiw @enewiiLy

Capemmailet FeLps Bovdgienmwined CFWGOLIBHSSLILIL L (LpFed L L BIS6T LI6TeUBLOTD).

Bppriedsw LT CSTL_MI6vevTs BlIewevd FHeorL_mluwia L.

A) Fnseowiib B) suevib

C) gmub9gur Cammib D) auriewrib

Gagerts QunmpertsmisSest @Lpedley LieTeupLb gpmsailed 615 Filwebev

A) Gagernaley Fgngdl sarFw a)Fs b @QBPwreneas ol HHHL0M5 2 6iTeTg)

B) Gspermailer Qummerngmy auerid@uiley CFencusd HIenm (LpSGTeOLOLITCIS]

C) Gamall -19 Qurmmernisrgsews Gonsons LITHSSE]

D) Garaill -19 @i 9@ Cagerts Cummernsmis®Hey @)uessi b flenev LoHmiLD
ELPGIDTLD Flemevd FIOMEH6T euaTiFReWL LIS ey CFuIS emest
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33. Which among the following is the oldest university in Kerala ?
A) Kerala Agricultural University
B) Kannur University
C) Mahatma Gandhi University
D) Sree Sankaracharya University of Sanskrit

34. Plasma clearance is defined as the amount of plasma that is cleared of a substance
in given unit time and can be calculated by the formula C = ﬂ Find out the GFR
from the following if, P
Concentration of inulin in urine = 125 mg/dL
Concentration of inulin in plasma = 1 mg/dL
Volume of urine output = 1 mL/min
A) 1 mL/min B) 125 mL/min
C) 0.008 mL/min D) 180 mL/min

35. Which of the following statement is/are correct about somatostatin ?
i. Inhibits the secretion of GH and TSH from anterior pituitary.
ii. Inhibits gastric secretion and maotility.
ii. Inhibits secretion of pancreatic juice.
iv. Inhibits secretion of GIP.
Choose the correct answer from the option given below.
A) All of the above i, ii, iii and iv B) Only i, ii and iii
C) Only i, iii and iv D) Only ii and iii

36. Match List — | with List —II :

List - 1| List -l

a. Leishmania tropica minor i. Kala-azar

b. Leishmania donovani ii. Wet sore

c. Leishmania brasiliensis iii. Oriental sore

d. Leishmania tropica major iv. Nasal leishmaniasis
Choose the correct answer from the option given below.

A) a—ii, b—iii, c—iv, d—i B) a—iv, b—iii, c—i, d-—ii
C) a—iii, b—i, c—iv, d—ii D) a—iii, b—iv, c—ii, d—i

A 16-
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CaHIemTalesT LILpELDWITET LIGVEMESHLPEHLD 6T%H| ?
A) Gsger afleusFmuil’s LIVEH6VEELPSHLD

B) seweri LebsemevssLpSHLD

C) wargwm s1H%) LIS@®SHLpSLD

D) wf shisgrésnilum FLevd(Bs LIGHSVEHLPHLD

Herrevinr HeflwgeTev ererg Qsr@RSsLILL L wefll CrrsGed 6166uaTa

uv
Qermeviom QeuellCuppiLi® g e1esiny yerallBsevr@b, C = 3 6TGSTD

&SP ISSM60 HesSGL_LiLi(pLb. Lietaupeuataupnnley GFR Ly augensd e _plieyb.
FAmipiev @etryeder Gemla; = 125 mg/dL

Qermaviomailed @)eiruyedler Glanley =1 mg/dL

b QeualCuppsPaer oeray =1 mL/min

A) 1 mL/min B) 125 mL/min

C) 0.008 mL/min D) 180 mL/min

CamonGL_mevL_mg et upPlw LN6TauBLD FmPmisailch 618 Fhlwmerg 2
i wpestyp w1 Muded @ ppg GH wpmyib TSH s#oliuenssd $60%5 5.
iil. @egieou &g wpHmb Qusssns FHSH DS
iii. seewnwd FIm FILILIDSS FHSF DS
iv. GIP sgliuenss $®HSBnS/.
GG OsrhssLiL (herter albLiLgH S bhs Filwret LuFaewd Csin0)sBSSa Lb.

A) Copsae . syeeaisgb (i, i, i, iv) B) i, ii opmyib iii o Hib

C) i, iii opmytb iv oL” Bib D) ii ommyih iii or” (Bib
ucgued — | o e L iguwed — |l Qumpgsab :

L quwiey — | L quwev =l

a. SeyGoesflwm 19 gm 9T w6t i. seT-9FmT

b. SeyGoailwm Gr_rGesmaumesf) i. Geu Gewmri

. aayCGoaflwr L98rHeCwesTR e iii. g@iwetr_eb Gewmi

d. SeayCGoeflwmr tgomsm Groggri iv. Breved &SlayGLoestuwimdev
&G OsrhdsLiL (herer alBLiLSH S Bhs Filwret LG s Csin0lsHISSa Lb.
A) a—ii, b—iii, c—iv, d—i B) a—iv, b—iii, c—i, d-—ii
C) a—iii, b—i, c—iv, d—ii D) a—iii, b—iv, c—ii, d—i
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37. Histones is/are shows positive charge because of the abundance of
i. Lysine, aspartate and glutamate
ii. Lysine and arginine
iii. Aspartate and glutamate
iv. Arginine and aspartate

Choose the correct answer from the option given below.

A) Only ii and iii B) Only ii
C) Only iv D) Onlyi
38. Match List — | with List —II :
List -1 List -1l
a. Hydrodamalis gigas i. Mauritius
b. Raphus cuculla ii. Australia
c. Thylacinus cynocephalus iii. Africa
d. Equus quagga quagga iv. Russia
Choose the correct answer from the option given below.
A) a—ii,b—iii,c—iv,d —i B) a—iii,b—iv,c—i,d—ii
C) a—iii,b—iv,c—ii,d—i D) a—-iv,b—i,c—ii,d —iii

39. A particle P, of mass m., starting from rest at the point P moves down a frictionless
straight inclined path PQ at 45° to the horizontal under gravity to reach the point Q
on the ground. Another particle P, of mass m,<m, is dropped from P to vertically
fall to the point R on the ground. Then which of the following are true ?

i. P, and P, will touch the ground with equal speeds.

ii. p, and p,, will touch the ground simultaneously.
1 2

ii. Ratio of the time taken by P, to the time taken by P, to touch the ground is J2.
iv. P, and P, will touch the ground with speeds whose ratio is 142.

A) iandii B) iand iii

C) iiandiv D) iii and iv

40. A concave mirror of focal length f and radius of curvature R is cut into halves by a
plane containing the principal axis. Then which of the following are false ?

i. Radius of curvature changes to R/2.
ii. Focal length changes to /2.
iii. Focal length changes to 2f.
iv. Radius of curvature changes to 2R while focal length remains the same.
A) Onlyiandii B) Only iii

C) Only iv D) All the four i, ii, iii and iv
A -18-
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amlev GL_mesrae6ir egraTons @ bLILgmew Gpiepn LG L Seands
ENMOLISETR
I. ewev&etr, evmiGL " opmyib &epL L rGoL’
ii. eweVFGHT LoPMILD 9y TedlewevsTasT
iii. yevumiGL " wppib Gepl L rGo”
iV. 9yigdlenesiest Lopmitb ervtmiGLL”
GG Casn®ssLiL Gerar LSS ed g Flwune LuFames Cpin0)s(BHEHa Lb.

A) i wpmyb iii oL GLb B) i ol b

C) iv oL pib D) i " @b

ulqued — | a6t Ll ywed — Il eww QunmpssayLb :

L g uied — | o guied — |l

a. enaw CurGL_mpredlev & men i. weyfaflwev

b. gmlimev & @svevr ii. gev@GraSlwm

C. awgwndarav eFw GarmoleFLimedan iii. <9po%LiMdam

d. eGeurev GUTSET GeUTSsT V. gapwm
GG OsrhdsLiL (herer albLiLgH S bhs Filwret LG emewd Csin0)sHISSa Lb.
A) a—ii,b—iii,c—iv,d—i B) a—iii,b—iv,c—i,d—ii
C) a—iii,b—iv,c—ii,d—i D) a—iv,b—i,c—ii,d—iii

Heop (Mass) m, & CETeBrL &IFH6T Py, P yerafluled guialed Qbpg Ol&m k&)
Suiley 2 6irar Q yerafleow e w, yalufitiy almsuler &y Hevi ol L ors
2 gria) @everoed Gpurs 45° uiled BSIGDG. HODTH Fis6r P, 2eig Blewm
m, <m. @eir P Q@ Bps CFBIGssTs saguilev R yerelld@ alwpibLig el i 1 g.
Lﬂmm@mmmjpﬁw 615 &M 9

i. P, LoPmith P, FLD CousdBev Hewgeuwid OFm(pLb.

ii. P, pmitb P, RCr CrusBev segews ClGm(H)Lb.

iii. P, 61(h& 515 0)s 16w GBI S5 G LD P, ST W OGN

1(h %G CBISSISGHLD FSLD \2 .

V. p, wpmib P, e mis6T 142 A5 QBSGL CoussPed sevgenwd Ol&m(pLb

A) i oppyb ii B) i opmyb iii C) i opmyb iv D) iii opmyid iv
@aflw Haorb f opmitb euenaeray b R Cl&meti_ g & Loeunest SerentiTiy. (LpF6TenLD
SFdavs OlsTewIL @(h SL L wres LJLLmed UTGwns el L LGS na).
L9esTeu (HeUaTaUDMIGY 615 SUDTETH 9

I. euemaraler guib R/I2 945 wmmFma).

i. @ailw BHerb /2 @ wIDIS DI

iil. @alw Berb 2f 95 LIUFDS).

iv. eauewaradlesr b 2R 9% woamb Cumg@eilw Herd g Gu @)me@GLb.
A) i wpmyb i o Bb B) iii or”(®1b
C) iV L @b D) GuwGe o sirer prer@Lb (i, i, iii, iv)
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41. A sphere of radius r of material of density p is fully immersed in a liquid of density G.
The loss of weight of the sphere would be (acceleration due to gravity is g)
A) (4/3)rr°pg B) (4/3)nr’cg
C)o D) None of the above
42. Which of the following are true ?
i. ISRO’s Chandrayaan-2 is a mission with the goal of exploring Moon.
ii. Chandrayaan-2 is India’s first successful mission to explore Moon.

ii. ISRO’s GSLV-F10/EOS-03 launched on Aug. 12, 2021 was an unsuccessful
mission.

iv. GSAT-3 is India’s first dedicated educational satellite to provide with two way
communication for delivering educational material.
A) i, iii and iv B) i, iiand iv
C) ii and iii D) i, ii, iii and iv
43. Suppose we have 18.3 litre oxygen gas containing 0.75 moles at 1 atmospheric

pressure and 25°C. If all this oxygen were converted to ozone at the same
temperature and pressure, what would be the volume of ozone formed in litres ?

A) 18.3L B) 9.15L C) 122L D) 27.45L
44. Calculate the vapour pressure of the resulting solution prepared by mixing 0.5 moles

of sucrose with 19.5 moles of water at 50°C. (Vapour pressure of pure water at 50°C
is 40 torr)

A) 36 torr B) 37 torr C) 38 torr D) 39 torr

45. What is the resulting H" ion concentration obtained by mixing 50 ml 0.2 M HNO3
with 10 ml 0.1 M NaOH ?

A) 0.14 M B) 0.15M C) 0.16 M D) 0.17 M
46. Which group of the modern periodic table does the synthetic element Oganesson (Og)
belongs ?
A) 15 B) 16 C) 17 D) 18
47. Which caste performs ‘Thirayattam’ ?
A) Nair B) Chakkiyar C) Kurichiyar D) Perumannan
48. ‘Libero’ is a word associated with which game ?
A) Football B) Hockey C) Volleyball D) Cricket
49. What is the real name of the author ‘Parappurath’ ?
A) K. E. Mathai B) E. M. Kovoor
C) P. C. Gopalan D) K. J. Baby

A -20-
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QILD I LoPMILD YL _$H) p 2.ewL_w Gasmard, 6 YL ASFeww 2 LW FIeusFev

wppeLownss elplpEujeteng. Carend@et ereni_ @)ipLiLy (FiLiL) alenFuwined erpLi(BLD

W BHS&LD J)eTerarraunss ()% @Lb.

A) (4/3)nrpg B) (4/3)nr’cg

C)o D) @eablwgiab @evensy

LG TeU(HUGTAIDDIG 6TH 2 GETeOLD ?

i. @avCrrallesr FBS Twmes -2 6TeTLIG) Flevenat 2y amiicuensg GbrdbsLonsd: ObTesTL 6 (b

Lisflwm@Lb.

ii. FBBIWTT-26TTLIG FHPTET YITUIRISDETNT @)bFwTaleT (Lpsed OleunmlsTLomest
Liesflwm@Lb.

iii. gysav” 12, 2021 ety @evGrraiesr GSLV-F10/EOS-03 allessenstley
gL’ L g CamevailwenL_bsg).

iv. GSAT-3 eretrig @ BFwralles psed LI150ws seval OFwPenssCsTer oy @Lb.

A) i, il opmyb iv B) i, ii topmyb iv

C) ii opmyLb fii D) i, ii, iii opmyib iv

1 euafloer_cv 9y(pdsLb opmitb 25°C @eb 0.75 Gomevaenand Glamesr 18.3 oSl L it

260126 GUITLY 2 GITaTS| 6TGHMY eMadgIs0\HTeTCoumid. Q)bS 2% IeR6H e eTdg LD

@Cr Geuiuflency PHWID I (PSFSH @Carens APDLILL L M6, O L Meh

2 (Heumr@Ld Caresllelr yere) eTediaauns (Q)(hdhEGLd ?

A) 183 L B) 9.15L C) 122L D) 27.45L

0.5 Gurev #5&C8gmemev 19.5 Gomed gevwrent(pL_cir 50°CQ)eb Sevpa SwmMSsri L

s gFedlet Hrmall 9 pdssanss sas&®H 2 (50°C @6v Grw Hilesr HFrmad 2ipSsLb
40 torr & Lb)

A) 36 torr B) 37 torr C) 38 torr D) 39 torr

50 fevas) 0.2 M HNO3 @ 10 hevas) 0.1 M NaOH o1 61 sevliLigesr alenarains
H* oyweir Qanflay eraires 2

A) 0.14 M B) 0.15 M C) 0.16 M D) 0.17 M
@s0arever (0g) pafar smew 9L euamentuiles 61bsd5 Gupeeud Caips OFwpens

SefloLh 2
A) 15 B) 16 C) 17 D) 18

61h% Fm@ullesi ‘Sowim L 1D’ QOF IS priser 2

A) mrwi B) sna@uwii C) @mlsfumi D) QupLosiresrest
‘@G erestg) 6155 allewerwm” GLa® Osm_jenL_w GlFmed

A) smevLbg) B) anrss) C) esLiupg) D) @405
Q@i ‘LmgmLyos o e iowimest Ol 6Tese 9

A) K. E. wgsmui B) E. M. Gamayr

C) P. C. Gsmumeveir D) K. J. Gu9
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50. Bhanumathi and Madhanan are characters in which Malayalam poem ?

A) Leela B) Vazhakkula
C) Dhuravastha D) Ramanan
2 6 _4 -7
51. Evaluate %
(=)

A) 2% B) 2718 C) — 22 D) None of these

52. The average of 10 observations was found to be 20. Later on, it was detected that
12 was misread as 21. The correct average is
A) 33.3 B) 19.1 C) 20.9 D) 22.2

53. 80% of employees in an office are females and the total number of male employees
is 25. The number of female employees is
A) 100 B) 125 C) 115 D) 90

54. A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr.
The average speed for the first 320 km of tour is
A) 36.55 km/hr B) 36 km/hr
C) 71.11 km/hr D) 72 km/hr

55. Ifa:b::c:d, then which among the following is true ?
A) ac =bd B) ab=-cd C) ad=bc D) None of these

56. The calendar for the year 2022 will be the same for the year
A) 2030 B) 2031 C) 2032 D) 2033

57. Identify the odd one out in the given options.
A) 101 B) 103 C) 105 D) 107

58. Find the angle between the two hands of clock at 4 : 10.

A) 61° B) 68° C) 55° D) 65°
59. 2,12, 36, 80, , 252.
A) 150 B) 110 C) 125 D) 168

60. If CHAIR is written as 34567 and RENT is written as 7128, then REAR is written as
A) 7157 B) 7137 C) 1731 D) 1751

A 20
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LITELOBUYLD LOSGTEYLD 616G LOGGIWITaTd Halensulley LITSF IBISHeT ?

A) &Sevr

C) smauavsr

(-2) (—4277
(-2)

A) 230

C) - 22

allevr_emul Hevst(h g

B) eumps@evr

D) pioewresr

B) 218

D) @emeu e1giayib (@)evemev

10 erewasaflesr #uma 20 eresimy sewr_plwiii’ L g). esresri 12 @ 21 ereiiny

SUDTEHL LG SSLILIL L G| SSTL B L G| FAwTeT FgmsF

A) 33.3

B) 19.1

C) 20.9

D) 22.2

R AV S5S5Fe0 80% Liewtlwimeniser OIS LoPMILD C)LDTds 968 e Sliiiseesr

eTenTenfldenas 25. Glievs 2erSwiigefer cTevsesstdens

A) 100

B) 125

C) 115

D) 90

FHMILILIWETSS @ Lesflget psed 160 km grigens 64 km/hr GeusgFeyiib, opmiLb
2A®Bs35 160 km grrsens 80 km/hr Gousg@aih QFev@mmi. wpgev 320 Km a&pmycs
Lweg@ et Fgnad CoussLb

A) 36.55 km/hr

B) 36 km/hr

C) 71.11 km/hr

a:b::c:dereflev, Liereupeusstoupmled 61g Fiil

A) ac =bd
C) ad=bc

B) ab=cd

D) 72 km/hr

D) @emeu 61816 LHlebemev

2022 sa1et HnevessL T 61h% 4ew1(h) FrevenTL_eng Gumew @G wrFwns Q)mdELb

A) 2030

CsrRSSLILL L auppled allSWTFLONGST ReTenmd HerL_PliieyLb.

A) 101

B) 2031

B) 103

C) 2032

C) 105

D) 2033

D) 107

4 :10 wenflé@ H195T1I5S T @)oesT(h) (L F@hdbEGHLD @ewL_Gw o erar Carenidans

HGOTL_PlWwe LD

A) 61°

2,12, 36, 80,
A) 150

B) 68°

252
B) 110

C) 55°

C) 125

D) 65°

D) 168

CHAIR ereirieng 34567 eresimyib, RENT ereirieng 7128 ereiimyib erpBemed, REAR
GIGTLIGNS GTLILILY. GT(LDGIRIS]

A) 7157

B) 7137
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61. ASCII code for alphabet A is
A) 10 B) 65
C) 97 D) None of these

62. SDRAM refers to
A) Synchronous DRAM
B) Static DRAM
C) Semi DRAM
D) Second DRAM

63. Decimal equivalent of hexadecimal 61h

A) 20 B) 33 C) 61 D) 97
64. Which is the internet protocol used in the URL https://www.mycollege.org/index.php ?
A) www B) https
C) org D) index
65. Program that combines one or more object files and generate a single executable file
A) Compiler B) Debugger
C) Interpreter D) Linker
66. Which of the following memory is non-volatile ?
A) DRAM B) ROM
C) SRAM D) None of these

67. What is the value of sum after the execution of the following code ?
int sum = 0;
for(inti=1;i<=5;i++)

{
if(i % 2 = = 0) continue;
sum +=i;
}
A) 1 B) 6 C) 9 D) 15
68. Protocol used to send mail
A) FTP B) HTTP
C) SMTP D) WWW
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70.

71.

72.

73.

74.

75.

76.
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Agency which assigns IP addresses
A) ANSI B) ICANN
C) IEEE D) IMAP

Keyboard shortcuts used for find and replace functions
A) Ctrl+F, Ctrl+H
B) Ctrl+F, Ctrl+R
C) Ctrl+C, Ctrl+V
D) Ctrl+S, Ctrl+X

Which operator is used to concatenate contents of two cells in excel ?
A) Plus (+) B) Hash(#)
C) Dot(.) D) Ampersand(&)

The basic unit of a worksheet into which you enter data in excel is called a
A) Tab B) Cell
C) Box D) Range

Keyboard shortcut to start slide show in PowerPoint
A) Ctrl + R B) Ctrl + S
C) F5 D) F6

In Visual Basic, which of the following keyword tells the computer to pass the variable’s
address rather than its contents ?

A) ByAdd B) ByPoint

C) ByRef D) ByVal

Function overloading is an example of
A) Abstraction B) Encapsulation

C) Inheritance D) Polymorphism

Which of the following is not a type of inheritance in C++ ?
A) Multiple B) Multilevel
C) Distributed D) Hierarchical
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77. Which of the following instruction tells the computer to close the current form in
Visual Basic ?

A) This.Close( )
B) Me.Close()
C) Close.this()
D) Close()

78. The key that represents relationship between database tables
A) Foreign Key
B) Super Key
C) Candidate Key
D) Primary Key

79. In SQL, the insert, delete and update commands come under
A) TCL (Transaction Control Language)
B) DCL (Data Control Language)
C) DDL (Data Definition Language)
D) DML (Data Manipulation Language)

80. How do we write a comment in JavaScript ?
A) /* comment */ B) // comment

C) #comment D) ;comment

81. Choose the correctly spelt word from the following.

A) Guage B) Momento

C) Pronounciation D) Righteous
82. She is relieved her duty.

A) from B) of C) off D) in
83. Choose the odd one out.

A) idle B) indolent

C) ideal D) lethargic
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85.

86.

87.
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89.

90.
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Choose the correct sentence.

A) Everyone of the girls love to have gifts
B) Thirty thousand dollars is a huge amount
C) Ideal

D) Lethargic

Choose the correct one.

A) loaf-loafs B) sheep-sheep
C) louse-louses D) echo-echo

The more you try, the it is.

A) good B) better

C) best D) worst

| am wrong in this case,

A) am|? B) amnt1?

C) arel? D) aren’t|?

Their is different and the best in this field.

A) nota bene B) ad infinitum

C) bona fide D) modus operandi
Dr. Salim Ali was a naturalist and an expert on birds. Find a one word substitute for

the underlined set of words.
A) ornithologist

B) ophthalmologist

C) orthodontist

D) philanthropist

When the police , the thief had already left.

A) come B) came

C) was coming D) has come
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91. “aEHPOBEHUT B eTeTm) e PSSLILIBLD BI6H
A) LBDmILILISS
B) ul yeriumenev
C) iogiamrésmesd
D) Gr@meveurenL_

92. “savCsreiy) et Careipnd s1ewsGs aurGarn(y (LpeTCHTeID) eLpds@HLy 6T6Ten) LD
Osm_it @ 1bGlupw Hredlesr Glwblgeses 2
A) Gsrevsminuid
B) mettenred
C) ymmrswimi

D) ywiGumperOeusssLimomen ey

93. “He kicked the bucket” ereyyib gy mFev s GermCpr_Mevers sLOlprdsib
OFuIs.
A) et aumellenw 6119 o FSET6T
B) wjeuett Ls0s e o s M6
C) <youetr @Qwpg Cumesmrest
D) wjeuest mps et

94. s — ClLTET H(h%.
A) eviged
B) ssmige
C) paldza
D) gnsev

95. GaisQs1psi% : el + @)Lt ="7?
A) @e@Lib
B) @b
C) @ppib
D) @emi@)r b
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97.

98.

99.

100.

LIAS6SpGI%5 — @LBSTT
A) useni + gyt

B) e + smi

C) usei + Hmi

D) ewup + s

619130lFTeD F1HH — 0OlaooeHe)
A) afpLbysed B) Qeaumigsed
C) Qéms D) smioib

ST UMDFLILIHSSI%

A) @miser, yses, eymuilmy, OFeieumil, aNumpest
B) alwmpeir, Lygetr, Gmiser, ehmullmy, GFeieumis
C) epmuimy, Fiiser, QFaieumil, L|Fer, allwmLpesr
D) G&eieumis, @pmuimy, DBisern, L5, allwmpaesr

epwpp Qeremas Csis0sHss.
A) FmumismevLb

B) Grmbyy

C) <ybfevar

D) @evay
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2021 gy b vy HEIeT FIRGFW HMHL0 alhg COLPD SO 6T(Lpd et

A) sallepr HpL
B) wbewus

C) Gen.siosi
D) @ewiowib
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Space for Rough Work
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